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eLIBeTHOM KaApTOH 1 NUCT
LiBeTHas Oymara

eJleHTOUYKa AnNnHon 80 c™m
*OTKpPLITKM K 23 dheBpana
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JIeHTOuUKY
pa3pe3aTb Ha 4

paBHble 4YacTu Nno
20 cM Kaxaas




aKnaagbiBaem
NMeHTOYKM Ha aeTanwu
OTKPbITKU TakK,

4yTOObI C 00emx

CTOPOH OCTaBalNuChb
CBOOOAOHbLIE KOHLUbI




CTOPOHbI KaXaoWu
MOJNIOBUHbI OTKPbITKMU
3armbaemMm KoHuUbl

NIEHTOYKN U
npukKknemBaemMm MUX Ha
OoOpaTHYIO CTOPOHY




KOHLUbI NIEHT npaBou
MOJZIOBUHbI OTKPbLITKN
npuKknenBaemM Ha

NneByro AgeTanb, a
KOHLIbl JNIeHT JNieBOU
NOSIOBUHbI HA NEBYIO




BHeLwHAA

CTOPOHA i_
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CTOPOHDI
HakneuBaem

NPAMOYIrosfibHUKW
LBETHOU Oymarm,
3aKpbliBas KOHLbI
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[lpe3eHTaUUA cocTaBrieHa
yuyntenem HavdanbHbIX

KraccosB
TBOY COLLU Ne 1055

r. MockBbl




